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Chapter 12 Problems
1. Major Manufacturing is currently working on two jobs that it began during the year.  The job order cost sheets for Job 101 and Job 102 for 2006 showed the following information:

Job #101
Job #102


Direct Materials


$10,000

$15,000



Direct Labor


$25,000

$30,000



Direct Labor Hours

2,000 hrs
3,000 hrs
The company established a predetermined overhead rate of $4 per direct labor hour at the beginning of the year.  What is the balance in work in process at the end of the year?

Both job #101 and #102 are in WIP
$10,000 + 25,000 + 8,000 + 15,000 + 30,000 + 12,000 = $100,000
2. Van Tiffin Manufacturing Company began operations on January 1, 2006.  The Company was affected by the following events during its first year of operation:  

1. Company issued stock to owners for $50,000 cash

2. Purchased materials, $4,000.

3. Transferred $2,000 of direct materials to production (Job #1: $1,500; Job #2: $500)

4. Paid direct labor costs, $2,500 (Job #1: $1,250; Job #2: $1,250)

5. Paid $1,500 cash for various actual overhead costs.

6. Applied overhead to work in process at 60% of direct labor cost.

7. Completed Job #1 and transferred it to Finished Goods.

8. Paid $100 cash for selling and administrative expenses.

What is the balance in work in process at the end of 2006?



Job #2 = $500 + 1,250 + 750 (applied OH) = $2500
3. Northport Company had 800 units of product in its work in process inventory at the beginning of January.  During the month, the company started and completed 2,200 units.  At the end of the month, there were 600 units remaining in work in process that were 60% complete.  Total production cost for the month was $26,880.  What is the balance in work in process at the end of the month?  (Round to the nearest dollar.)

800 + 2200 = 3,000 units @ 100% = 3,000


       600 units @  60% =    360




Total EU =         3,360

$26,880 / 3,360 = $8

$8 * 360 = $2,880
4. Northport Company had 800 units of product in its work in process inventory at the beginning of January.  During the month, the company completed 2,200 units.  At the end of the month, there were 600 units remaining in work in process that were 60% complete.  Total production cost for the month was $17,920.  What is the balance in work in process at the end of the month?  (Round to the nearest dollar.)

2200 * 100% = 2,200
  600 * 60%  =     360


Total EU = 2,560

$17,920 / 2,560 = $7 per EU
$7 * 360 = $2,520
5. Harvey Company uses a job order cost system.  During the month of March, the company worked on three jobs.  The job order cost sheets for the three jobs contained the following information at the end of March:

 Job X

 Job Y

   Job Z


Beg. Balance


$5,000

$3,000

$         0



Direct Material


$2,000

$8,000

$11,000



Direct Labor


$3,000

$5,000

$  9,000

The company applies overhead at 80% of direct labor cost.  During March, Jobs X and Y were completed.  Job Y was sold in March and Job X was sold in April.  What is the balance in finished goods at the end of March?  (Assume the balance in finished goods at the beginning of March was zero.)

Job X = $5,000 + 2,000 + 3,000 + 2,400 = $12,400
Use the following information to answer the next two questions:  ABC Company had 400 units of product in its work in process inventory at the beginning of the period.  During the period ABC started 3,900 additional units of product.  At the end of the period ABC had 300 units of product in the work in process inventory.  ABC estimated the ending work in process inventory was 40% complete.  The beginning work in process inventory cost was $888.  ABC added $9,000 of product costs to work in process during the period.

7.
What is the number of equivalent units in ABC’s ending work in process inventory?


300 * 40% = 120
8.
The amount of cost in ending work in process inventory is   


400 + 3900 – X = 300

X = 4,000 = completed units


4,000 * 100% = 4,000 units


   300 * 40%   =    120 units


Total EU =         4,120


$9,888 / 4,120 = $2.40


$2.40 * 120 = $288
9. Max Corporation produces widgets.  The production process is made of the cutting department and the assembly department.  During November, the assembly department had a beginning balance of $10,000.  During the month, $25,000 was transferred in from the cutting department.  An additional $45,000 of raw materials was used and $50,000 of labor was incurred.  The company uses an overhead application rate of $0.50 per direct labor dollar.  The assembly department had 5,000 units in beginning work in process.  An additional 30,000 units were started during the month.  10,000 units were remaining in WIP at the end of the month and they were on average 60% complete.  What is the balance in the assembly department at the end of November? 
$10,000 + 25,000 + 45,000 + 50,000 + 25,000 = $155,000

5,000 units + 30,000 units – X = 10,000 units

X = 25,000 units = completed

25,000 * 100% = 25,000

10,000 *  60% =   6,000

Total EU =          31,000

$155,000 / 31,000 units = $5 per EU

$5 * 6,000 = $30,000
